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Instructions for Candidate§

1. Write your Roll'No. on the top 1mmed1ate1y on receipt
of this question paper.

t

. Attempt all questions.

3. All questions carry-equal -marks. -

4. Answers may b_é written either in English or Hindi;
but the same medium should be used throughout the
paper. ' |
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1. (a) How does cost accounting differ from financial
accounti-ng? ' (5)

(b) Why are cost and flnan01a1 accounts reconciled?
Explain the reasons. for the difference between

costing and f1nan01a1 proflt or, loss. - - (10)

- OR

(a) What do you mean by Cost Accountlng Standards?
Why do we need cost accountlng standards? '

: (5)
(b) The foilo_wing figures are given : - %
' R - )
"Sales (25,000 units) -  65.00,000
Materials o 25,00,000
. Wages I SR - -15,00,000

Factory overheads ~-10,00,000
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Office & Administration overheads
Selling & Distribution overheads

Closing stock of finished goods
(1,200 units)

Closing stock of wir

“Goodwill w/o

~Income Tax paid

5,50,000

3,00,000

2,20,000
1,40,000
3,30,000

50,000

Cost account manual states that the factory

~overheads are to be recovered at 1'00%..0'f Labour.

Administration overheads at 10% of -works cost;

and sellri'ng' & distribution overheads @ X 10 per

unit sold.

Prepare Statement of Recdhciliaiion, Cost Sheet

and Profit & Loss Alc.

- (10)
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2. (a) Explain the accounting treatment and control of

(5)

wastages in the cost accounts.

(b) A.S. Ltd. produces a product ‘Red’ using “Y“
components X and Y. Each unit of ‘Red’ requires
0.4 kg of X and 0.6 kg of Y. Weekly production
varies from 350 units to 450 units averaging 400
units. Delivery period for both the components 1S
1"to 3 weeks. The economic order quantity for X
is 600 kg and for Y is 1000 kg. Calculate:

(i) Re-order level of X;
(i) Maximum level of X;
(iii) Minimum level of Y.(10 Marks)

OR

(a) What is 1dle time? Explain the causes leading to
" idle time and its treatment 1n cost accounting.

(5)

| (b) 'The following information relates to the personnel
department of a factory for the month of April
2020 : | ~
Number of workers on April 1, 2020 950

‘Number of workers on April 30, 2020 1050

P.T.O.
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Number of workers who quit the
factory in April, 2020 10

Number of workers discharged
in April 2020 | 30

Number of workers engaged in
April 2020 (including 120 on
account of expansion scheme) ;- 140

Calculate the labour turnover rate under the

different methods. . . . S (10)-
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3. (a) Distinguish between allocation and apportionment

of overheads. ' (5) -

P.T.O.
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(b) A cost centre in a factory furnishes the fol]owing

working conditions :

Normal working week 40 hours
Number of machines ' 15

Number of weekly loss of
hours on maintenance etc. 4 hrs. per machine

Estimated annual overheads™ =~ % 1,55,520
Estimated direct Wages rate ,?3 per hour
Number of weeks worked

per. year - coo 48
Actual results in respect of a 4-w'eek,p_eri¥>d are :
Overheads incﬁ;fea e R E15,000
Wages incurred | 7,000
Machine hours produced 2,200 hrs.

You are required to :

¢

(i) Calculate the overhead rate per machine

hour and

“(ii) Calculate the amount of under or ovef-
absorption of both wages and overheads. -

(10)
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OR

L

(a) What is Activity Based Costing? How is it

different from traditional method of overhead
costing? (5)

(b) In a manufacturing unit, overheads were recovered

at a predetermined rate of ¥ 25 perman-day: The

total factory overhead expenses incurred and the

man-days actually worked were % 41.50 lakh and
X 1.50 lakh days, respectively.

Out of the 40,000 units produced durmg a period, |
30,000 were sold. i

On analyzing the reasons, it was found that 60
“percent of the unabsorbed overheads were due to

defectlve planning and the rest were attrlbutable
to 1ncrease in overhead costs.

How would under/over absorbed overheadq be

treated in cost accounts? | . | (10)
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(a) Distinguish between service cosfing and output

costing. , (5)

(b) The following information has been taken from

the costing records of a company in respect of a

job :

P.T.O.
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Direct Materials ’ 26,000
Wages:
Department A: 60 hours @ X 30 per hour

Department B: 40 hours @ T 20 per hour

Department C: 20 hours @ ¥ 50 per hour

Overheads for the three departments are estimated

as follows :

Variable Overheads

Department A: T 15,000 for 5,000 hours:

Department B: ?‘30,000 for 1,500 hours
Department C: 312,000 for 500 hours

Fixed Overheads: ¥ 50,000 for 10,000 working hours

You are required to ca]culatqv the cost of the job
and also calculate the price to be charged so a8

to yield a profit of 20% on the ,sell'in'g price.
(10)

OR

The following information relates to Process A
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Opening Work in Progress

1,000 units worth

Units introduced during the year

< 10,800

5,000

- The following costs were incurred during the year:

Material Cost
Labour Cost

Overheads

Output transferred to next process

Scrapped units

Normal Loss

(sold @ Re. 1 per unit)

'Z.89,200

% 41,500

< 16,600

3,750 units

750

10% of total

input’

Closing Work in Progress 3,000 units
Degree of Materials - Labohr | Overheads
Completion - :

Opening WIP 40% 20% 20%
Closing WIP 60% - 1.30% 30%

Prepare the Process ‘A’ A/c assuming FIFO method
of stock valuation. |

(15)

P.T.O.
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S, (n) Distinguish between job costing and contract

(b)

costing,

kS

(5)

Mr. Ahuja runs a tempo service in Delhi. He
furnishes the following particulars of his vehicle
A ‘

<
Cost of vehicle 25,000
Road License fee per year 750
Supervisor’s salary per year 1,800
Dri'vcr’s' wages per hour .4
Cost of fuel per liter 1.50
Repair per km 1.50
Garage rent per annum 1,600
Insurance premiuxﬁ per annum 850
Kilometres run per li'.‘.re 6
Kilometres run during the year 15,000 milés
Estlmated llfe of vehicle 1,00,000 miles

- Charge-interest @ 10% per annum on the cost of

‘the vehicle. The vehlcle runs 20 knlometres per

hour on an average.

You are required to calculate cost per . running
kilometre. (10)
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OR

A firm undertook a contr

act for thc construction of a

large Shoppmg comple\ The construction work started
on April 1, 2021 and the following data are available

for the year ended March 31, 2022 :

Materials issued to site
_Afchitect cost

Direct wages paid _
Materials returned frbni site -
Tools hire charges

Other indirect cost

Site office costs

Head office expenses (allocated)
Direct expenses

Work certified

Work done but not yet certified
Progress payments received

Contract price

<

&
~ 84,00,000
~ 11,20,000
44,80,000
2.80,000
19,60,000
5,60,000
8,00,000

1 4,20,000
10,09,600
2,24,00,000
1,60,000

1,79,20,000
£4,00,00,000

The firm owns a crane with an orlgmal cost of ¥ 120

Lakhs. The re51dual value of this crane after five
years of life is expected to be ¥ 20 Lakhs Straight

line method of depreciation is used.

P.T.O.
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As on March 31, 2022 the direct wages dye and
payable amounted to $3,20,000 and the cosy of
materials estimated to be 37,20,000.

You are required to:

(i) Prepare the contract account for the year endeg
on March 31, 2022.

(ii) Show the calculation of profit to be taken to the
profit and loss account of the year.

(iii) Show the balance sheet (relevant extracts only)
as on March 31, 2022. - (15)
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